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   EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                           Date: 20-07-2021 

 

1. Consider the following statements regarding adjournment motion: 

1) Adjournment motion is introduced only in the Lok Sabha to draw the attention of the House to a 

definite matter of urgent public importance. 

2) It needs the support of 100 members to be admitted. 

Select the correct answer from the codes given below: 

a) 1 only                                        b) 2 only                         c) Both 1 and 2                 d) Neither 1 nor 2 

 

2. Which article of the Constitution deals with Inter-state water disputes? 

a) 261                                          b) 262                                  c) 263                                         d) 264 

 

3. Consider the following statements regarding UDAN scheme: 

1) The scheme is aimed at enhancing connectivity to remote and regional areas of the country and 

making air travel affordable. 

2) The scheme will be jointly funded by the central government and state governments. 

Select the correct answer from the codes given below: 

a) 1 only                                               b) 2 only                          c) Both 1 and 2             d) Neither 1 nor 2 

 

4. The Indian Space Research Organisation (Isro) successfully conducted the third long-duration hot test on 

the liquid propellant engine named what that would launch the ambitious Gaganyaan programme? 

a) Sahaydri engine                      b) Vikas engine                    c) Kedar engine               d) Vikram engine 

 

5. The world’s first onshore commercial modular small reactor is being constructed by which country? 

a) Australia                                b) New Zealand                     c) Singapore                             d) China 

 

6. Kisan Sarathi digital platform was launcedlaunched by which of the following Ministry? 

a) Ministry of Agriculture and Farmers Welfare  

b) Ministry of Electronics and Information Technology 

c) Ministry of Tribal Affairs 

d) Both (a) and (b)  

 

7. Consider the following statements regarding Textile industry initiatives: 

1) Scheme for Integrated Textile Parks (SITP) is launched to assist small and medium entrepreneurs in 

the textile industry to clusterize investments in textile parks by providing financial support for world 

class infrastructure in the parks. 

2) SAMARTH (Scheme For Capacity Building In Textile Sector) is launched to address the shortage of 

skilled workers.  

Select the correct statements 

a) 1 Only                                        b) 2 Only                          c) Both 1 and 2 only        d) Neither 1 nor 2 

 

8. Which of the following country has introduced its long-awaited emissions trading system that would 

create the world’s largest carbon market?  
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a) USA                               b) India                               c) China                                      d) Russia 

 

9. Consider the following statements regarding renewable energy: 

1) India has set a target of 450 GW of Renewable Energy capacity by 2030. 

2) It had pledged in COP-21 in Paris that by 2030; 40% of its power generation capacity will be from 

non-fossil fuel sources. 

Select the incorrect answer from the codes given below: 

a) 1 only                                       b) 2 only                                  c) Both 1 and 2              d) Neither 1 nor 2 

 

10. Consider the following statements regarding EIA: 

1) The EIA was an important tool to ensure the optimal use of natural resources for sustainable 

development. 

2) Under the Environment (Protection) Act, 1986, India notified its first EIA norms in 1994, setting in 

place a legal framework for regulating activities that access, utilise, and affect (pollute) natural 

resources. 

Select the correct answer from the codes given below: 

a) 1 only                                   b) 2 only                             c) Both 1 and 2                 d) Neither 1 nor 2 


